FOUNDATION COURSE - 8 

ANALYTICAL SKILLS 

Syllabus, For all Degree Programmes.

w.e.f. 2018-19  (Revised in June, 2018) 

(This syllabus is prescribed for backlog from 2015)

                       SEMESTER – IV                      (Total 30 Hrs)
UNIT-I

Data analysis: Data given in Tables, Bar diagrams, Pie charts, Venn 
                           diagrams.

UNIT-II

Arithmetic ability: Algebraic operations-BODMAS, Fractions, Divisibility 
                                 rules, LCM and GCD (HCF).

UNIT-III

Sequences and Series: Sequences and series of numbers, Odd man out and  
         Series completion, Averages, Ratio and Proportions.

UNIT-IV

Quantitative aptitude: Problems on age, Time and Distance, Percentages.

UNIT-V

Business computations:  Profit and loss, Partnership, Simple & Compound 
                                          interest.

REFERENCE BOOKS: 

1. Quantitative Aptitude for Competitive Examination by R S Agrawal, S.Chand publications. 
2. Quantitative Aptitude : Numerical Ability (Fully Solved) Objective Questions, Kiran Prakashan, Pragathi prakasan, Kic X, Kiran Prakasan publishers.

3. Old question Paper of the exams conducted by (Wipro, TCS, Infosys, Etc) at their recruitment process, source-Internet.
FOUNDATION COURSE – 8
ANALYTICAL SKILLS

MODEL PAPER
Time : 2 Hrs.







          Max. Marks: 50M

Answer All Questions. Each question carries 1 Mark.

PART-A

Choose the correct answer for the following questions.
Study the following bar graphs carefully and answer given questions (1 to 5)
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1)
 The average export of pearls for the given period (in crores) was.

         (      )


(a) 7.5 
(b) 8.73 (c) 7.82 (d) 8.33

2) 
In which year was the max percentage increase in export of pearls to that of the previous year. 









         (      )                

(a) 
2002 
(b) 2004
 (c) 2008
 (d) 2006
3) 
In how many years was export above average for the given period.

         (      )


(a) 2 

(b) 4 

(c) 8 

(d) 6

4) 
In which of the following pairs of years was the average export of pearls around 9 crores.

                                                                                                                                            (      )


(a) 2002 and 2003
(b) 2003 and 2004
(c) 2004 and 2005
(d) 2005 and 2006

5) 
What was the percentage increase in export from 2006 to 2007


       (      )


(a) 16 
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(b) 19%

(c) 20% 

(d) 33 
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6)
 If 
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          (      )


(a) 7

(b) 9

(c) 3 

(d) 6
7)
Simplify 1-[1-{1-(1-1-1)}]






          (      )


(a)1

(b) -1

(c) 0 

(d) 2

8) Even prime number







          (      )
      (a) 12
(b)22
(3)2
(d) None

9) 
L.C.M of 24, 18, 36 is 

    




                      (      )


(a) 432

(b) 433

(c) 434

(d) 435
10)  The  HCF of 84 & 96 is




    

                      (      )


(a)
6
(b) 84

(c) 96 

(d) 12
11)
 If 
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          (      )


(a) 2,3

(b) 4,5

(c) 3,4 

(d) -3,4

12) Which of the following is divisible by  3


    
                                  (      )


(a) 541326
(b) 5967013
(c) 586321
(d) 531346

13) 4:8:16:_____________

    

  



         (      )

(a) 64

(b) 32

(c) 128 
(d) 28
14) NO:RS:: TU:__________

    

    



        (      )

(a) XY

(b) YX

(c) ZY 

(d) YZ
15) Find out odd one__________

    

 


       (      )    


(a) 19

(b) 17

(c) 13 

(d) 12

16) Sum of first 10 natural numbers:__________




       (      ) 

(a) 55

(b) 60

(c) 50 

(d) 65
17) 4, 12, 36, 108, __________

    

     


       (      )

(a) 324

(b) 326

(c) 325

(d) 327
18) P1F, R2E, T6D, V24C, __________

    



      (      )      


(a)  X120B
            (b) X100C
(c) T120B
(d) X120C
19) A man riding his bicycle covers 250 meters in 50 sec. What is his speed in km per 
hour? 









     (      )

(a) 20

(b) 21.6
(c) 23 

(d) 18

20) A train passes through a telegraph post in 9 seconds moving with a speed of 54 km per hour. The length of the train is 






          (      )
(a) 125m
  (b)135m
(c) 145m
(d) None

21) If we express 64% as a fraction, the answer is         

              
          (      )

        (a) 
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(c) 
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(d) 
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22) 10% of 5 and 5% of 10 add up to 





          (      )

 (a) 0.10
(b) 0.25
(c) 1.0 

(d) 2.5

23) The ratio of the ages of Ramu & Raju is 9:10 respectively 10 years ago, the ratio of their ages was 4:5 respectively. What is the present age of Raju? 


          (      )

 (a) 10 Years
(b) 20 Years
(c) 25 Years
(d) 30 Years

24) The years ago, a man was seven times as old as his son. Two year hence, twice his age will be equal to five times the age of his son. What is the present age of his son.      (      )

 (a) 12 Years
(b) 13 Years
(c) 14 Years
(d) 15 Years

25) A pen is bought for Rs.60/- and sold at gain of 10% . Find the selling price.            (      )
 
(a) Rs.54
(b) Rs.50
(c) Rs.66
(d) Rs.70

26) If the loss is 
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 of selling price, the loss percentage is                                                  (      ) 
 
(a) 16
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(b) 20 %
(c) 25 %
(d) 33 
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27) Rajan and Sajan started a business initially with Rs.15,000/- and Rs.25,000/- respectively. If total profits at the end of the year is Rs.96,000/- What is the Rajan’s share in the profit. 


(a) 39,000/-
(b) 36,600/-
(c)60,000/-
(d) 36,000/-                                      (      )

28) In a business A invests half as much as B and B invests twice as much as C. If C invests Rs.563, then (A+B)’s investment as.




                     (      )
 
(a) Rs.501 

(b) Rs.1000
(c) Rs.1689
(d) Rs.1729
29) In what time the simple interest on Rs.15,000/- at 5% be Rs.3000/ -                        (      )
 
(a) 1 year 
(b) 2 Years 
(c) 3 Years 
(d) 4 Years
30) The difference between compound and simple rates of interest on Rs.10,000/- for 3 years at 5% per annum is







         (      )

(a) 25

(b) 35

(c) 45
(d) 75


PART-B

One word answers.

The pie chart given below shows the spending of a family on different articles for the year 2000. Analyse the pie chart and answer the questions which follow.
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31)  If the total amount that was spent in the year 2000 was 50000, the amount that was spent on food was
32) If the total amount that was spent in the year2000 was Rs. 48000, the amount that was spent on housing and clothing combined was
33) The ratio of the amount spent on teaching and education to clothing and food was
34)  If the amount spent during the year 2000 was Rs. 62000, the amount spent on clothing during the year was
35) If 
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36) 0.81/9 =
37) Arrange in descending order 
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38) HCF of two numbers is 16 and LCM is 160. If are number is 32, find the other numbers. 
39) 1, 4, 9, 16, 25, 36,
40) 25-[18-{25+3(10-7-15)}]=?

41) Find the average of first 21 consecutive even integers.

42) Find the mean proportional between 48 and 12.

43) The present age of Mr. Sanyal is three times the age of his son. Six years later, the ratio of their ages will be 5:2 what is the present age of Mr. Sanyal?

44) If A earns 33
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% more than B, how much percent does B earn less than A?
45) 3.5 can be expressed in terms of percentage as___________________

46) A cyclist covers a distance of 750m in 2 min 30sec what is the speed in km/hr of the cyclist?
47) If the cost price is 96% of the selling price, then what is the profit percent?

48) A, B and C started a business by investing Rs.1,20,000, Rs.60,000 and Rs.90,000 respectively. Find the share of each out of an annual profit of Rs.54,000/-.

49) At what rate of simple interest a certain sum will be doubled in 15 years. 

50) After 1 year, how much compound interest will be obtained on Rs.30,000 at therate of 11% interest per annum?
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